@ [H7E 445 EE<=AEH>

(1) I= f:“ /1 +sin(x) dx

3
1+sin(x)=u & @< L, xE[O, %} & ue[l, 1+§}
du du
cos(x)dx=du, cos(x)=4/ 1—sin?(x) =y 1—(u—12 =+ 2u—u?, dx= =
(x) @)=v ) =V 1-@—-1p=9 o) Vo
14432 du 1+v32  du 144312
L I= Vu ——— =[—2v2—u ] =343
fl V2u— u2 V2—u
J“'A |
= U=+l1+smx
1
D
= Xsin(x) = Xxsin(x)
2 [= _Y dy— 7
@1 J'0 3 +sin?(x) dx fO 4 —cos?(x)
cos(x)=u & &< &, xE[O, ] & ue[l —1], —sin(x)dx=du, x=cos~!(u)
! cos*l(u) _ .
'I_f,l - = f 2—|—u 7o |08 (wdu
1 '
:—fi {log(2+u)—log(2—u)} cos~'(x)dx <« EX% HrFESY
1 24+u ! 1 a1
— . —1 J— — — .
4{105;2_ cos (u)] +4J‘71{10g(2+u) log(2—u)} mdu #)
Z 2 T log2+u)—log—uw) IX#AFBAETHY v 1 —u? (XMBEAET- 00, B AT BEEL
£ T, HROFE2HORTEIIT =0,
1 1
. I—Z[log(?a)-cosl(l)—log 7 -cosl(—l)}
Ly o) TA
=—-lo .
T TN v
:%log@) \ /
" X

A
o]
123

(=0.8628---) ---[] _




11 e
3) I= —dx=
®) 01+er foex+e2x
S— 1

ei=u L S L, exde=du, x<[0, 1] & uell, e] T —
e du el 1 1 \1
fl u-+u? J‘1 u u+1 } U

=[logu—log(u+1)]}

Y= Tre

2
=1+1lo
ge—i—l

(=0.3798---) --[%4] -2 -1 0

=

= sin(nx)

0 sin(x)

sin(nx) = sin((n —2)x-+ 2x)=sin((n — 2)x)cos(2x) + cos((n — 2)x)sin(2x)
=sin((n—2)x)(1 —2sin?(x))+2cos((n —2)x)sin(x)cos(x)
=sin((n—2)x)+ 2sin(x)(cos((n—2)x)cos(x) —sin((n —2)x)sin(x))

sin(nx)  sin((n—2)x)
sin(x) sin(x)

THD0H

+2cos((n—1)x) TA

(58]

=y

S L=+ 2 f(:t cos((n— 1x)dx

< f 0 cos((n—l)x)dx:{ sin(n—1x) | =0 /

n—1 0

ThHH1D In=In2,

_ | sin(5x)

LLEEY , n BMEEDL & In=-=1=0

inx

[

=

n REEoLE hi=-=h=n

[ I
[ o]
R
(X n=750HE5—) L
| B
[
/ \

—
S ]
#"'——-

Y

ol
Mo

|
1 5 (7% 4 7J~n/2( {0) xd— [ x }“/2 =02 cos(x)dx
®) f =/4 sin?(x) ) ORX) Xax= tan(x) | x4 f /4 sin(x)
1 1
Z%—l—[log(sin(x))]zﬁ:%—log zl—i——logz (=1.132--) - [&]
5 ,\) ‘/E 4 2

A
2A



(EenEE)
ME1] A R10LS CHREEDD, FHOYERETL TD,
/FAG=30° 72758 AE=2r, EG=2r, AG=4r,

1 43 1 V3

AF=—="L""AG 725, 4r=—x .. r=—v - [4]

2 2 \/3 12

ME2] A RH2085 T&REEDD, FHOERE L T5,

1 1
CE=1, CD=1—r, FG=——, DF=2r4+ ——, CF=—,

2\}3 2¢/3 2
1 )2 1)2
2r+ﬁ} —i—{z}

BHEL T 924203+ 43 )r—2=0

—(B+4/3)+130+643

r>0 TZ NERWT, r= ’ - [&]

S (1—r)2=

(=0.180---)

[ME3] A H3DL) IT&REEDD, FHOERE L T4,

RN
NN

3 3

2
DE=1+r, EF=43r, AG=—

3
V3

DF=AD—AF=4/3 —{ +r

3
243

2
——r} =(1 41y

LV Y
P T 92 —2(3+24/3)r+1=0

C 3423 -24304+43)
9

r<l TZ nEFENT r=

+r

L]

=

(=0.0820---)

B




